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SECTION A : MATHEMATICAL REASONING

1. Simplify: | 1 n 1 B 3. The average score of a group of 4 friends in a
’ 3-8 VB-VT  VT1-4e Maths test is 28. Then Manoj joined their group
1 L1 and average score of the group became 30. Find
J6-v5 Y52 the marks scored by Manoj.
a) 7 b) 3
a) 42 b) 34
c) 5 d) 6
c) 38 d) 36
2. In the given figure, (not drawn to scale) ABC is

4. A quadrilateral shaped field can be divided into
two right-angle triangle. AACB and AADC as
shown below. Find the area of the field.

a right-angled triangle with right angle at B. If
/BCA = 74°and AM = MQ = QP, then find the

C
ZQPB. A
74° 1 7 Cm
o &
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A MoP B a) 125m’ b) 92m?
a) 58° b) 148°
c) 105m? d) 114 m?
c) 128° d) 110°
SECTION B : EVERYDAY MATHS
5. The sides of a triangular board are 6 cm, 8 cm 6. Present ages of Kiran and Sayam are in the ratio
and 10 cm. What is the cost of painting it at the 5 : 4 respectively. Three years hence, the ratio of
rate of 56 paise per 8 cm?? their ages will become 11 : 9 respectively. What
a) 21.56 is Sayam’s present age?
b) 2.16 a) 25 years b) 24 years
c) %3.00 ¢) 30 years d) 32 years
d) 1.68
SECTION C: LOGICAL REASONING
7. Starting from his home Rohit walked 12 m 8. Look at the number series given below and find
towards North. He turned left and walked 15 m. the next two numbers.
He then turned right and walked 20 m, after this 10,34, 12,31, 14,28, 16, ,
he turned right and walked 15 m. How far and
in which direction from his home? a) 26,18 b) 25,18
a) 35m, South b) 40 m, North ) 24,16 d) 27,16
¢) 32 m, South d) 35 m, North
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SECTION D : BRAINBOX

9. In the given figure, (not drawn to scale) 10. The height of a cone is 30 cm. A small cone
O is the centre of the circle, ZBCO = 30°, is cut off at the top by a plane parallel to its
ZAEB =90° and OD||BC. Find the values of x base. If its volume be 37 of the volume of the
and y respectively. given cone, at what height above the base is the
ti t.
a) 300, 15° section cu
a) 10cm
b) 45°,20°
b) 15cm
45°,15°
2 c) 20cm
d) 30°,20 d) 25cm

1.(C) 2.(B) 3.(C) 4. (D) 5.(D) 6. (B) 7.(C) 8. (B) 9.(A)  10.(C)
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